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QUESTION 1

You are configuring transparent mode on an SRX Series device. You must permit IP-based traffic only,

and BPDUs must be restricted to the VLANs from which they originate.

Which configuration accomplishes these objectives?

& bridge: {
block-non—-ip—all;
bypass—non-ip—-unicast;
no—packet—-flooding;

}

B. bridge {
block—-non-ip-all;
bypass—non—-ip-unicast;
bpdu-vlan-flooding;

}

¢ bridge {
bypass—non-ip-unicast;
bpdu-vlan—-flooding;

}

D. bridge {
block—-non-ip-all;
bpdu-vlan-lflooding;

}

A. Option A

B. Option B

C. Option C

D. Option D
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Correct Answer: B

Reference: https://www.oreilly.com/library/view/juniper-srx-series/9781449339029/ch06.html

QUESTION 2

In a Juniper ATP Appliance, what would be a reason for the mitigation rule to be in the failed-remove state?
A. The Juniper ATP Appliance received a commit error message from the SRX Series device

B. The Juniper ATP Appliance received an unknown error message from the SRX Series device

C. The Juniper ATP Appliance was not able to communicate with the SRX Series device

D. The Juniper ATP Appliance was not able to obtain the config lock

Correct Answer: D

Reference: https://www.juniper.net/documentation/en_US/release-independent/jatp/topics/topic-map/jatpmitigation-and-
reporting.html

QUESTION 3

You are asked to set up notifications if one of your collector traffic feeds drops below 100 kbps.
Which two configuration parameters must be set to accomplish this task? (Choose two.)

A. Set a traffic SNMP trap on the JATP appliance

B. Set a logging notification on the JATP appliance

C. Set a general triggered notification on the JATP appliance

D. Set a traffic system alert on the JATP appliance

Correct Answer: BD

QUESTION 4

You must troubleshoot ongoing problems with IPsec tunnels and security policy processing. Your network consists of
SRX340s and SRX5600s.

In this scenario, which two statements are true? (Choose two.)

A. IPsec logs are written to the kmd log file by default

B. IKE logs are written to the messages log file by default

C. You must enable data plane logging on the SRX340 devices to generate security policy logs

D. You must enable data plane logging on the SRX5600 devices to generate security policy logs
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Correct Answer: AD

QUESTION 5

Click the Exhibit button.

userfsrx-1> show security ipsec rext-hop-tunnels

Next-hop gateway interface IPsec VEN name
10.10.10.2 5t0.0 sryl-to—-sru?
10.10,10.3 st0.0 srxl-to-srx3
10.10.10.4 5t0.0 srxl-to-srxd

Which statement is correct regarding the information show in the exhibit?
A. The tunnel binding was discovered automatically

B. The output is for an ADVPN

C. The tunnel gateway address was automatically discovered

D. The tunnel is not encrypting the traffic

Correct Answer: B

Flag

Auto
Auto
Auto

XAUTH-USERNAME

Mot-Available
Not-Available
Not-Available

Reference: https://www.juniper.net/documentation/en_US/junos/topics/reference/command-summary/ show-security-

ipsec-next-hop-tunnels.html
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